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1	Introduction
In this paper, we will discuss missing details for height-dependent measurement reporting and the behaviour of the cells triggered list. 
2	Discussion
2.1	Definition of Height Ranges for AxHy
This section will address some additional concerns related to topics 3.1 and 3.2 from the rapporteur report of an email discussion on open issues for the RRC CR [1].
At RAN2#123bis the following agreement wase made regarding the configuration of height-dependent events [2].
-	It is up to network implementation how to configure height range and hysteresis  
While it was agreed that it would be up to network implementation on how to configure the height ranges, the mechanism of transitioning between height ranges was not addressed. With the current approach of using the Hy component of the new Events AxHy to define the boundaries of the height ranges, there is a risk that a UE could send duplicate reports by having satisfied the conditions for multiple height ranges. For example, to configure 3 height ranges, at least the following events would need to be configured: at least two Events AxH2 would be configured for the Aerial UE to descend from height range 3, to range 2, to range 1; and at least two matching events AxH1 would be configured for the Aerial UE to ascend from height range 1, to range 2, to range 3. An Aerial UE above two AxH1 events could be required to send two measurement reports if the Ax portion of both AxH1 events were satisfied.
In the following example, we will focus on Events AxH1, but the concept can be mapped to Events AxH2. According to the draft CR to 38.331 [3], the entering condition for the H1 portion of the AxH1 event is called “Inequality A3H1-2 (Entering condition 2)”, and is defined as “Ms – Hys2 > Thresh”, where Ms is the “ [altitude] of the Aerial UE relative to the sea level”, Hys2 is the hysteresis parameter for the H1 part of the event, and thresh is the altitude threshold. See the blue Aerial UE in Figure 1 below for an example of an Aerial UE that could satisfy two AxH1-2 conditions.
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[bookmark: _Ref149215746]Figure 1 - Aerial UE Satisfying Two Events AxH1
In this example, the Aerial UE marked in blue, which could be interpreted as the black Aerial UE at time t = 1, satisfies AxH1-2 (1), and AxH1-2 (2). Therefore, as long as the Ax part of each Event AxH1 is satisfied, the Aerial UE will transmit a measurement report for each.
It is possible to extend the concept to support Event A3H2 because if an Aerial UE changes directions, e.g., descends after ascending, the leaving condition of the active Event A3H1 height range could be triggered at the same time as the entering condition of an Event A3H2, leaving only one active A3Hx height range at a time. Table 1 shows a configuration of parameters for aligned Events AxH1 and AxH2.
[bookmark: _Ref149217078]Table 1 - Aligned Configuration of Events AxH1 and AxH2
	Event
	Thr
	Hyst
	AxHy-2 (E)
	AxHy-4 (L)

	AxH1 [1]
	10m
	2m
	h > 12m
	h < 8m

	AxH2 [1]
	10m
	2m
	h < 8m
	h > 12m



And Figure 2 shows the aligned configuration pictorially, wherein the Aerial UE meets the H1-2 condition entering an Event AxH1 only when meeting the H1-4 condition leaving an AxH2 
[image: ]
[bookmark: _Ref149217121]Figure 2 - Aligned Configuration of Events AxH1 and AxH2
One approach to the solution, mirrored in the annex containing a text proposal to the TR, adds a condition for the evaluation of condition AxH1.
if more than one Event A3H1 is configured, the UE shall select as the active Event A3H1 the one for which the entering condition A3H1-2 has most recently been satisfied, and shall not evaluate the entering condition A3H1-1 for any other configured, but inactive Event A3H1;
Observation 1: When the entering and leaving conditions for Events AxH1 and AxH2 are aligned, it is possible to determine which Event AxHy, for a given value of x, should be considered as active.
Proposal 1: Adopt the text proposal provided in the annex to define the height-range selection procedure for Events AxHy.
The proposal relies on the Aerial UE to manage the state of its active height range. The solution is only a partial one because it depends on the Aerial UE passing a threshold to select its active height range. That means that at the time of configuration, because the Aerial UE has not passed a threshold, no height range is active.
There are two options to interpret the Aerial UE behaviour.
1. The entering condition AxH1-2 and AxH2-2 can only be met when the Aerial UE crosses a threshold, and then maintains the entering condition until the leaving condition has been met.
2. The entering condition AxH1-2 and AxH2-2 can be met immediately upon configuration.
The first option aligns with the “becomes” wording in the TR, but it is limiting because an Aerial UE could be configured with height-dependent AxHy Event reporting while already in flight. In that case, the Ax entering condition could apply, but because the Aerial UE never “became” higher or lower than a configured altitude, it will not have met both necessary entering conditions, AxHy-1, and AxHy-2.
The second option doesn’t work automatically, however, given that an Aerial UE could satisfy more than one AxH1-2 and more than one AxH2-2 at the time of configuration. Take Figure 3 below as an example.
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[bookmark: _Ref149217683]Figure 3 - Entering Conditions for Multiple AxH1 and AxH2 Events
In Figure 3, the Aerial UE marked in black, at time t=0, satisfies AxH1-2 (1) because it is above the threshold for AxH1 (1), AxH2-2 (2) because it is below the threshold for AxH2 (2), and AxH2-2 (3) because it is below the threshold for AxH2 (3).
Observation 2: Without an initial definition of the active height range, e.g., at the time of configuration, it isn’t possible to define the Aerial UE’s behaviour prior to crossing a threshold.
To resolve the issue, we need a way to determine the active height range or Event AxHy at the time of configuration.
We present two options.
1. The UE could evaluate the entering conditions for all the AxH1 and AxH2 events for the same value of x, and if more than one entering condition would be met, the UE can choose the one that is most applicable to be considered to be the Event AxHy that has been “most recently been satisfied. The evaluation would be done for all Events AxHy with the same value of x.
2. Behaviour could be defined, e.g., the Aerial UE shall sort the Events AxH1 and Events AxH2 by threshold +/- hysteresis; if the Aerial UE is ascending, choose the Event AxH1 with the highest threshold + hysteresis for which the entering condition has been met, and if the Aerial UE is descending, choose the Event AxH2 with the lowest threshold – hysteresis for which the entering condition has been met.
In both options, an initial active height range is selected by the Aerial UE.
Observation 3: An Aerial UE can select the first active Event AxHy, for a given value of x, in an implementation-dependent or a standardized way.
Proposal 2: If it is determined that an Aerial UE is in a height range at the time of configuration, discuss whether the Aerial UE should select its first active Event AxHy (option 1) or if a standardized rule should be defined to do so (option 2).
The solution described above would be complete if we did not have two cases: height-dependent AxHy configured without numberOfTriggeringCells for mobility; and height-dependent AxHy configured with numberOfTriggeringCells for interference reporting. Both cases require an Aerial UAV to be considered to be inside an “active” height range because once the height range is established, then the Ax entering condition, Ax-1, and the Ax leaving condition, Ax-3, are the conditions being evaluated. So, one approach could be to modify the text proposed in the first solution to account for the mobility and multi-cell triggering cases.
1> if this event A3H1 is configured with numberOfTriggeringCells
2> if more than one Event A3H1 is configured with numberOfTriggeringCells, the UE shall select as the active Event A3H1 configured with numberOfTriggeringCells the one for which the entering condition A3H1-2 has most recently been satisfied, and shall not evaluate the entering condition A3H1-1 for any other configured, but inactive Event A3H1 configured with numberOfTriggeringCells;
1> else
2> if more than one Event A3H1 is configured without numberOfTriggeringCells, the UE shall select as the active Event A3H1 configured without numberOfTriggeringCells the one for which the entering condition A3H1-2 has most recently been satisfied, and shall not evaluate the entering condition A3H1-1 for any other configured, but inactive Event A3H1 configured without numberOfTriggeringCells;

Observation 4: When selecting an active EventAxHy, the Events configured for mobility should be considered separately from the Events configured for interference reporting.
Proposal 3: To account for Events AxHy configured with and without numberOfTriggeringCells, adopt the above text proposal that modifies the originally proposed text proposal.
3	Conclusion
This document has made the following observations:
Observation 1: When the entering and leaving conditions for Events AxH1 and AxH2 are aligned, it is possible to determine which Event AxHy, for a given value of x, should be considered as active.
Observation 2: Without an initial definition of the active height range, e.g., at the time of configuration, it isn’t possible to define the Aerial UE’s behaviour prior to crossing a threshold.
Observation 3: An Aerial UE can select the first active Event AxHy, for a given value of x, in an implementation-dependent or a standardized way.
Observation 4: When selecting an active EventAxHy, the Events configured for mobility should be considered separately from the Events configured for interference reporting.
And proposed the following:
Proposal 1: Adopt the text proposal provided in the annex to define the height-range selection procedure for Events AxHy.
Proposal 2: If it is determined that an Aerial UE is in a height range at the time of configuration, discuss whether the Aerial UE should select its first active Event AxHy (option 1) or if a standardized rule should be defined to do so (option 2).
Proposal 3: To account for Events AxHy configured with and without numberOfTriggeringCells, adopt the above text proposal that modifies the originally proposed text proposal.
4	Text Proposal to 38.331
5.5.4.a	Event A3H1 (Neighbour becomes offset better than SpCell and the Aerial UE height becomes higher than a threshold)
The UE shall:
1> if more than one Event A3H1 is configured, the UE shall select as the active Event A3H1 the one for which the entering condition A3H1-2 has most recently been satisfied, and shall not evaluate the entering condition A3H1-1 for any other configured, but inactive Event A3H1;
1>	consider the entering condition for this event to be satisfied when both condition A3H1-1 and condition A3H1-2, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A3H1-3 or condition A3H1-4, i.e. at least one of the two, as specified below, is fulfilled;
1>	use the SpCell for Mp, Ofp and Ocp.
NOTE 1:	The cell(s) that triggers the event has reference signals indicated in the measObjectNR associated to this event which may be different from the NR SpCell measObjectNR.
Inequality A3H1-1 (Entering condition 1)
Mn + Ofn + Ocn – Hys1 > Mp + Ofp + Ocp + Off
Inequality A3H1-2 (Entering condition 2)
Ms – Hys2 > Thresh
Inequality A3H1-3 (Leaving condition 1)
Mn + Ofn + Ocn + Hys1 < Mp + Ofp + Ocp + Off
Inequality A3H1-4 (Leaving condition 2)
Ms + Hys2 < Thresh
The variables in the formula are defined as follows:
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the reference signal of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the cell specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the frequency of the neighbour cell), and set to zero if not configured for the neighbour cell.
Mp is the measurement result of the SpCell, not taking into account any offsets.
Ofp is the measurement object specific offset of the SpCell (i.e. offsetMO as defined within measObjectNR corresponding to the SpCell).
Ocp is the cell specific offset of the SpCell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the SpCell), and is set to zero if not configured for the SpCell.
Hys1 is the hysteresis parameter for this event (i.e. a3-Hysteresis as defined within reportConfigNR for this event).
Off is the offset parameter for this event (i.e. a3-Offset as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h1-Hysteresis as defined within reportConfigNR for this event).
Thresh is the threshold parameter for this event (i.e. h1-Threshold as defined within reportConfigNR for this event).
Mn, Mp are expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys1, Ofp, Ocp, Off are expressed in dB.
Ms, Hys2, Thresh are expressed in meters.
5.5.4.b	Event A3H2 (Neighbour becomes offset better than SpCell and the Aerial UE height becomes lower than a threshold)
The UE shall:
1> if more than one Event A3H2 is configured, the UE shall select as the active Event A3H2 the one for which the entering condition A3H2-2 has most recently been satisfied, and shall not evaluate the entering condition A3H2-1 for any other configured, but inactive Event A3H2;
1>	consider the entering condition for this event to be satisfied when both condition A3H2-1 and condition A3H2-2, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A3H2-3 or condition A3H2-4, i.e. at least one of the two, as specified below, is fulfilled;
1>	use the SpCell for Mp, Ofp and Ocp.
NOTE 1:	The cell(s) that triggers the event has reference signals indicated in the measObjectNR associated to this event which may be different from the NR SpCell measObjectNR.
Inequality A3H2-1 (Entering condition 1)
Mn + Ofn + Ocn – Hys1 > Mp + Ofp + Ocp + Off
Inequality A3H2-2 (Entering condition 2)
Ms + Hys2 < Thresh
Inequality A3H2-3 (Leaving condition 1)
Mn + Ofn + Ocn + Hys1 < Mp + Ofp + Ocp + Off
Inequality A3H1-4 (Leaving condition 2)
Ms – Hys > Thresh
The variables in the formula are defined as follows:
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the reference signal of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the cell specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the frequency of the neighbour cell), and set to zero if not configured for the neighbour cell.
Mp is the measurement result of the SpCell, not taking into account any offsets.
Ofp is the measurement object specific offset of the SpCell (i.e. offsetMO as defined within measObjectNR corresponding to the SpCell).
Ocp is the cell specific offset of the SpCell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the SpCell), and is set to zero if not configured for the SpCell.
Hys1 is the hysteresis parameter for this event (i.e. a3-Hysteresis as defined within reportConfigNR for this event).
Off is the offset parameter for this event (i.e. a3-Offset as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h2-Hysteresis as defined within reportConfigNR for this event).
Thresh is the threshold parameter for this event (i.e. h2-Threshold as defined within reportConfigNR for this event).
Mn, Mp are expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys1, Ofp, Ocp, Off are expressed in dB.
Ms, Hys2, Thresh are expressed in meters.
5.5.4.c	Event A4H1 (Neighbour becomes better than threshold1 and the Aerial UE height becomes higher than a threshold2)
The UE shall:
1> if more than one Event A4H1 is configured, the UE shall select as the active Event A4H1 the one for which the entering condition A3H4-2 has most recently been satisfied, and shall not evaluate the entering condition A4H1-1 for any other configured, but inactive Event A4H1;
1>	consider the entering condition for this event to be satisfied when both condition A4H1-1 and condition A4H1-2, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A4H1-3 or condition A4H1-4, i.e. at least one of the two, as specified below, is fulfilled.
Inequality A4H1-1 (Entering condition 1)
Mn + Ofn + Ocn – Hys1 > Thresh1
Inequality A4H1-2 (Entering condition 2)
Ms – Hys2 > Thresh2
Inequality A4H1-3 (Leaving condition 1)
Mn + Ofn + Ocn + Hys1 < Thresh1
Inequality A4H1-4 (Leaving condition 2)
Ms + Hys2 < Thresh2
The variables in the formula are defined as follows:
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the measurement object specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the neighbour cell), and set to zero if not configured for the neighbour cell.
Hys1 is the hysteresis parameter for this event (i.e. a4-Hysteresis as defined within reportConfigNR for this event).
Thresh1 is the threshold parameter for this event (i.e. a4-Threshold as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h1-Hysteresis as defined within reportConfigNR for this event).
Thresh2 is the threshold parameter for this event (i.e. h1-Threshold as defined within reportConfigNR for this event).
Mn is expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys are expressed in dB.
Thresh1 is expressed in the same unit as Mn.
Ms, Hys2, Thresh2 are expressed in meters.
5.5.4.d	Event A4H2 (Neighbour becomes better than threshold1 and the Aerial UE height becomes lower than a threshold2)
The UE shall:
1> if more than one Event A4H2 is configured, the UE shall select as the active Event A4H2 the one for which the entering condition A4H2-2 has most recently been satisfied, and shall not evaluate the entering condition A4H2-1 for any other configured, but inactive Event A4H2;
1>	consider the entering condition for this event to be satisfied when both condition A4H2-1 and condition A4H2-2, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A4H2-3 or condition A4H2-4, i.e. at least one of the two, as specified below, is fulfilled.
Inequality A4H2-1 (Entering condition 1)
Mn + Ofn + Ocn – Hys1 > Thresh1
Inequality A4H2-2 (Entering condition 2)
Ms + Hys2 < Thresh2
Inequality A4H2-3 (Leaving condition 1)
Mn + Ofn + Ocn + Hys1 < Thresh1
Inequality A4H2-4 (Leaving condition 2)
Ms – Hys2 > Thresh2
The variables in the formula are defined as follows:
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the measurement object specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the neighbour cell), and set to zero if not configured for the neighbour cell.
Hys1 is the hysteresis parameter for this event (i.e. a4-Hysteresis as defined within reportConfigNR for this event).
Thresh1 is the threshold parameter for this event (i.e. a4-Threshold as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h2-Hysteresis as defined within reportConfigNR for this event).
Thresh2 is the threshold parameter for this event (i.e. h2-Threshold as defined within reportConfigNR for this event).
Mn is expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys are expressed in dB.
Thresh1 is expressed in the same unit as Mn.
Ms, Hys2, Thresh2 are expressed in meters.
5.5.4.e	Event A5H1 (SpCell becomes worse than threshold1 and neighbour becomes better than threshold2 and the Aerial UE height becomes higher than a threshold3)
The UE shall:
1> if more than one Event A5H1 is configured, the UE shall select as the active Event A5H1 the one for which the entering condition A5H1-2 has most recently been satisfied, and shall not evaluate the entering condition A5H1-1 for any other configured, but inactive Event A5H1;
1>	consider the entering condition for this event to be satisfied when all of condition A5H1-1 and condition A5H1-2 and condition A5H1-3, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A5H1-4 or condition A5H1-5 or condition A5H1-6, i.e. at least one of the three, as specified below, is fulfilled;
1>	use the SpCell for Mp.
NOTE 1:	The parameters of the reference signal(s) of the cell(s) that triggers the event are indicated in the measObjectNR associated to the event which may be different from the measObjectNR of the NR SpCell.
Inequality A5H1-1 (Entering condition 1)
Mp + Hys1 < Thresh1
Inequality A5H1-2 (Entering condition 2)
Mn + Ofn + Ocn – Hys1 > Thresh2
Inequality A5H1-3 (Entering condition 3)
Ms – Hys2 > Thresh3
Inequality A5H1-4 (Leaving condition 1)
Mp – Hys1 > Thresh1
Inequality A5H1-5 (Leaving condition 2)
Mn + Ofn + Ocn + Hys1 < Thresh2
Inequality A5H1-6 (Leaving condition 3)
Ms + Hys2 < Thresh3
The variables in the formula are defined as follows:
Mp is the measurement result of the NR SpCell, not taking into account any offsets.
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the cell specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the neighbour cell), and set to zero if not configured for the neighbour cell.
Hys1 is the hysteresis parameter for this event (i.e. a5-Hysteresis as defined within reportConfigNR for this event).
Thresh1 is the threshold parameter for this event (i.e. a5-Threshold1 as defined within reportConfigNR for this event).
Thresh2 is the threshold parameter for this event (i.e. a5-Threshold2 as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h1-Hysteresis as defined within reportConfigNR for this event).
Thresh3 is the threshold parameter for this event (i.e. h1-Threshold as defined within reportConfigNR for this event).
Mn, Mp are expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys are expressed in dB.
Thresh1 is expressed in the same unit as Mp.
Thresh2 is expressed in the same unit as Mn.
Ms, Hys2, Thresh3 are expressed in meters.
5.5.4.f	Event A5H2 (SpCell becomes worse than threshold1 and neighbour becomes better than threshold2 and the Aerial UE height becomes lower than a threshold3)
The UE shall:
1> if more than one Event A5H2 is configured, the UE shall select as the active Event A5H2 the one for which the entering condition A5H2-2 has most recently been satisfied, and shall not evaluate the entering condition A5H2-1 for any other configured, but inactive Event A5H2;
1>	consider the entering condition for this event to be satisfied when all of condition A5H2-1 and condition A5H2-2 and condition A5H2-3, as specified below, are fulfilled;
1>	consider the leaving condition for this event to be satisfied when condition A5H2-4 or condition A5H2-5 or condition A5H2-6, i.e. at least one of the three, as specified below, is fulfilled;
1>	use the SpCell for Mp.
NOTE 1:	The parameters of the reference signal(s) of the cell(s) that triggers the event are indicated in the measObjectNR associated to the event which may be different from the measObjectNR of the NR SpCell.
Inequality A5H2-1 (Entering condition 1)
Mp + Hys1 < Thresh1
Inequality A5H2-2 (Entering condition 2)
Mn + Ofn + Ocn – Hys1 > Thresh2
Inequality A5H2-3 (Entering condition 3)
Ms + Hys2 < Thresh3
Inequality A5H2-4 (Leaving condition 1)
Mp – Hys1 > Thresh1
Inequality A5H2-5 (Leaving condition 2)
Mn + Ofn + Ocn + Hys1 < Thresh2
Inequality A5H2-6 (Leaving condition 3)
Ms – Hys2 > Thresh3
The variables in the formula are defined as follows:
Mp is the measurement result of the NR SpCell, not taking into account any offsets.
Mn is the measurement result of the neighbouring cell, not taking into account any offsets.
Ofn is the measurement object specific offset of the neighbour cell (i.e. offsetMO as defined within measObjectNR corresponding to the neighbour cell).
Ocn is the cell specific offset of the neighbour cell (i.e. cellIndividualOffset as defined within measObjectNR corresponding to the neighbour cell), and set to zero if not configured for the neighbour cell.
Hys1 is the hysteresis parameter for this event (i.e. a5-Hysteresis as defined within reportConfigNR for this event).
Thresh1 is the threshold parameter for this event (i.e. a5-Threshold1 as defined within reportConfigNR for this event).
Thresh2 is the threshold parameter for this event (i.e. a5-Threshold2 as defined within reportConfigNR for this event).
Ms is the Aerial UE height relative to the sea level.
Hys2 is the hysteresis parameter for this event (i.e. h2-Hysteresis as defined within reportConfigNR for this event).
Thresh3 is the threshold parameter for this event (i.e. h2-Threshold as defined within reportConfigNR for this event).
Mn, Mp are expressed in dBm in case of RSRP, or in dB in case of RSRQ and RS-SINR.
Ofn, Ocn, Hys are expressed in dB.
Thresh1 is expressed in the same unit as Mp.
Thresh2 is expressed in the same unit as Mn.
Ms, Hys2, Thresh3 are expressed in meters.
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